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Multiplication Problem Solving
Answer Key

1. 6 filets x 8 ounces = 48 ounces (oz) = 3 pounds (lbs) 
2. 7 groups x 9 blue beams = 63 blue beams 

7 groups x 6 red beams = 42 red beams 
7 groups x 2 orange beams = 14 orange beams 
They saw 119 total beams. 

3. 6 dots x 5 rows = 30 dots on one wall. 
30 dots x 4 walls = 120 dots on 4 walls. 

4. 10 people x 2 pieces = 20 pieces of gold ore left the mine. 
20 pieces x 10 mm of gold ore = 200 mm of gold ore left the 
mine. 

5. 8 turkeys x 14 eggs = 112 eggs 
112 eggs / 2 = 56 eggs hatched.
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